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(kg/hr) (kg/hr) (kg/hr) (/)
(a) |FFEEEH - B/ E(HFETIREN AR EE)
(A 2.277 0.003 - 0.019 0.004 &
LA i 1.512 0.016 - 0.361 0.071 =
/L4, (HCI) 4,545 0.075 - 0.251 0.186 =
mIbE (HF) 0.306 0.011 - 0.068 0.029 s
— &b (SO2) 15.147 0.427 - 6.186 2.104 =
—4& kbR (CO) 7.578 0.002 - 0.113 0.046 =
HELY (NOx)
PL=&dE%E (NO2) 30.303 0.731-5.135 1.446 =
s E
(b)|[FFEEEEH — HIME (HMFEHIRENLAGRE)
(A 0.756 0.003 - 0.005 0.004 &
LA 0.756 0.040 - 0.128 0.071 =
Z/LE (HCI) 0.756 0.159 - 0.216 0.185 s
wAbE (HF) 0.072 0.022 - 0.039 0.029 s
— &b (SO2) 3.789 1.849 - 2.322 2.107 =
—&Ei% (CO) 3.789 0.012 - 0.078 0.047 =
HAY (NOx)
DL=%AEE (NO2) 15.147 0.891 - 2.193 1.446 =
ETHE
28 HERPRE® BEa=st R R
(kg/hr) (kg/hr) (/)
() FREN (HE{LEBFTER)
7K 0.003789 <0.0003 =
S SE VAR 0.003789 <0.0011 =
R A 0.0378 <0.0049 &
IR R g ) 7.575 x 10°° <5.518 x 1020 &
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(kg/hr) (kg/hr) (kg/hr) (/)
(a) |FFEEEH - B/ E(HFETIREN AR EE)
(A 2.277 0.002 - 0.023 0.003 &
LA i 1.512 0.020 - 0.337 0.060 =
Z/LE (HCD 4.545 0.000 - 0.233 0.144 TE
mIbE (HF) 0.306 0.000 - 0.059 0.023 s
— &b (SO2) 15.147 0.000 - 2.770 1.727 =
—4&bi% (CO) 7.578 0.024 - 0.405 0.099 g
HELY (NOx)
PL—&/EE (NO2) 30.303 0.893 - 8.671 1.704 =
s E
(b)|[FFEEEEH — HIME (HMFEHIRENLAGRE)
(A 0.756 0.002 - 0.005 0.003 &
LA 0.756 0.042 - 0.104 0.061 =
Z/LE (HCI) 0.756 0.045 - 0.202 0.142 s
wAbE (HF) 0.072 0.006 - 0.039 0.023 s
— &b (SO2) 3.789 1.378 - 2.083 1.731 =
—&Ei% (CO) 3.789 0.079 - 0.145 0.100 =
HAY (NOx)
DL=%AEE (NO2) 15.147 1.090 - 2.787 1.717 =
ETHE
28 HERPRE® BEa=st R R
(kg/hr) (kg/hr) =ED)
() FREN (HE{LEBFTER)
7K 0.003789 <0.0003 =
S SE VAR 0.003789 <0.0011 =
R A 0.0378 <0.0048 &
IR R g ) 7.575 x 10°° <5.040 x 1020 &
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(kg/hr) (kg/hr) (kg/hr) (/)
(a) |FFEEEH - B/ E(HFETIREN AR EE)
(A 2.277 0.003 - 0.018 0.007 &
LA i 1.512 0.019 - 0.280 0.066 =
/L4, (HCI) 4,545 0.007 - 0.170 0.095 =
mIbE (HF) 0.306 0.003 - 0.057 0.025 s
— &b (SO2) 15.147 0.008 - 4.384 1.749 =
—4& kbR (CO) 7.578 0.011-0.185 0.102 =
HELY (NOx)
PL—&/EE (NO2) 30.303 0.633 - 5.031 1.308 =
s E
(b)|[FFEEEEH — HIME (HMFEHIRENLAGRE)
(A 0.756 0.005 - 0.010 0.007 &
LA 0.756 0.043 - 0.104 0.066 =
Z/LE (HCI) 0.756 0.064 - 0.134 0.095 s
wAbE (HF) 0.072 0.015 - 0.038 0.025 s
— &b (SO2) 3.789 1.528 - 2.103 1.751 =
—&Ei% (CO) 3.789 0.064 - 0.144 0.102 =
HAY (NOx)
DL=%AEE (NO2) 15.147 0.756 - 2.254 1.313 =
ETHE
28 HERPRE® BEa=st R R
(kg/hr) (kg/hr) (/)
() FREN (HE{LEBFTER)
7K 0.003789 <0.0003 =
S SE VAR 0.003789 <0.0013 =
R A 0.0378 <0.0059 &
IR R g ) 7.575 x 107 <6.487 x 1010 =
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